

### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 18, 2020

Progress Estimate Number	Contract ID	200117-C07	Pay Period Start	May 2, 2020	Original Contract Amount	\$2,358,419.34
3	Prime Contractor	Superior Bowen Asphalt Company, LLC	Pay Period End	May 15, 2020	Net Change Order Amount Current Contract Amount	\$24,497.33 \$2,382,916.67

Approval Date		By User
May 18, 2020	Generated and Approved (and should be considered Draft) at the Project Office Level by	scarpm1
May 18, 2020	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	karlic1
May 18, 2020	Reviewed and Approved at the Central Office Controllers Office Level by	greggd1

Original Completion Date	Current C	Completion Date	Actual Completion Date	% of Current Contract Amount Complete
November 1, 2020	Nover	mber 1, 2020		90.69%
Contract Informational D	otoo		Mile	otonoo

Cont	ract Information	al Dates		Milestones			
Date Description	Original Completion Date	Current Completion Date	Date Description	Original Completion Date	Current Completion Date	Days Remaining on Milestone	Diary Charge Days
Acceptance Date			Milestone - Calendar Time - J4S3257 - Calendar Days - 43 Days JSP B 2.1	May 19, 2020	May 19, 2020	-2	
Awarded Date	February 5, 2020	February 5, 2020	Milestone - Calendar Time - J4S3259 - Calendar Days - JSP B 2.1	July 25, 2020	July 25, 2020	65	
Letting Date	February 17, 2020	February 17, 2020	Milestone - Completion Date - J4S3257	November 1, 2020	November 1, 2020	164	
Notice to Proceed Date	March 9, 2020	March 9, 2020	Milestone - Completion Date - J4S3259	November 1, 2020	November 1, 2020	164	
Open to Traffic Date							
Work Began Date							

Contract Total Pay	/ For Estimate No. 3			
		This Estimate	Previous	To Date
200117-C07				
	Total Posted Items Pay	\$389,076.78	\$1,771,879.70	\$2,160,956.48
	Gross Item Adjustments	(\$26,903.12)	(\$14,251.57)	(\$41,154.69)
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
			\$1,757,628.13	\$2,119,801.79
<b>Contract Total Pay</b>	able This Estimate:	\$362,173.66		

### Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J4S3257	0030	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	TONS	\$85.500	1,166	\$99,693.00
	0060	4071005	TACK COAT	GAL	\$2.100	1,038	\$2,179.80
	0070	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	EA	\$500.000	2	\$1,000.00
	0100	6161005	CONSTRUCTION SIGNS	SQFT	\$6.000	388	\$2,328.00
	0250	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$1.700	2,858	\$4,858.60
	0260	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$3.500	581	\$2,033.50
	0270	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	STA	\$21.000	176	\$3,696.00
Project J4	S3257 - To	otal					\$115,788.90
J4S3259	0340	2022010	REMOVAL OF IMPROVEMENTS	LS	\$20,700.000	0.1	\$2,070.00
	0350	2153000	SHAPING SLOPES, CLASS III	100F	\$950.000	1.8	\$1,710.00
	0370	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	TONS	\$69.250	1,447	\$100,204.75
	0390	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	TONS	\$68.500	1,687.84	\$115,617.04

Revision 4/1/2020 Page 1 of 15



### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 18, 2020

Progress Estimate Number	Contract ID	200117-C07	Pay Period Start	May 2, 2020	Original Contract Amount	\$2,358,419.34
3	Prime Contractor	Superior Bowen Asphalt Company, LLC	Pay Period End	May 15, 2020	Net Change Order Amount Current Contract Amount	\$24,497.33 \$2,382,916.67

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J4S3259	0400	4071005	TACK COAT	GAL	\$2.100	2,927	\$6,146.70
	0430	6042010	ADJUSTING MANHOLE	EA	\$2,600.000	-1	(\$2,600.00)
	0450	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	EA	\$500.000	2	\$1,000.00
	0520	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	SQYD	\$131.330	29.5	\$3,874.24
	0530	6161005	CONSTRUCTION SIGNS	SQFT	\$6.000	408	\$2,448.00
	0560	6161025	CHANNELIZER (TRIM LINE)	EA	\$12.000	50	\$600.00
	0790	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$2.000	2,319	\$4,638.00
	0800	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$1.700	3,467	\$5,893.90
	0810	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	STA	\$21.000	179	\$3,759.00
	0820	6061060	MGS GUARDRAIL	LF	\$18.500	563	\$10,415.50
	0830	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	LF	\$21.500	0.5	\$10.75
	0860	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	EA	\$2,750.000	4	\$11,000.00
	0870	6061080	MGS END ANCHOR	EA	\$800.000	2	\$1,600.00
	0880	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	EA	\$2,450.000	2	\$4,900.00
Project J4	S3259 - To	otal					\$273,287.88
Overall - T	otal						\$389,076.78

### **Contract Adjustments This Estimate**

No Contract Adjustments Exist on Contract

<b>.</b>	1.1	u B : ::	A 11 4 .	011 11	0 1	A 11 4	1.1	A 11 1 1
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
4S3257	0030	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Other Item Adjustment	Asphalt Cement Price Adjustment	AC adjustment for BP-1 Mix ID BP1 20-48. 1,166.00 tons placed between 5/2/20 - 5/15/20. (\$1,486.65)			(\$1,486.65)
	0050	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Overrun		Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	-35.2	\$70.75	(\$2,490.40)
	0050	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Material			-4,878.9	\$70.75	(\$345,182.18)
	0050	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 15 on the current Payment Estimate.	35.2	\$70.75	\$2,490.40
	0050	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0002) due to user scarpm1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	4,878.9	\$70.75	\$345,182.18
	0060	TACK COAT	Material			-6,079	\$2.10	(\$12,765.90)
	0060	TACK COAT	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0011) due to user scarpm1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	6,079	\$2.10	\$12,765.90
	0070	TRUCK OR TRAILER	Material			-2	\$500.00	(\$1,000.00)

Revision 4/1/2020 Page 2 of 15



## Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 18, 2020

Progress Estimate Number 3

Contract ID 200117-C07 Pay Period Start May 2, 2020 Original Contract Amount \$2,358,419.34

Prime Superior Bowen Asphalt Company, Contractor LLC

Pay Period Start May 2, 2020 Original Contract Amount \$2,358,419.34

Pay Period End May 15, Net Change Order Amount \$24,497.33

Current Contract Amount \$2,382,916.67

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J4S3257		MOUNTED ATTENUATOR (TMA)						
	0070	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0012) due to user scarpm1 overridding Payment Estimate Exception 10 on the current Payment Estimate.	2	\$500.00	\$1,000.00
J4S3259	0350	SHAPING SLOPES, CLASS	Overrun			-1.8	\$950.00	(\$1,710.00
	0370	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Other Item Adjustment	Asphalt Cement Price Adjustment	AC adjustment for SP125C ILO BP-1 Mix ID SP125 17-118. 84.40 tons placed between 5/2/20 - 5/15/20. (\$113.94) AC adjustment for BP-1 Mix ID BP1 20-48. 1,362.59 tons placed between 5/2/20 - 5/15/20. (\$1,737.30) Total = (\$1851.24)			(\$1,851.24
	0390	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Overrun			-185.2	\$68.50	(\$12,686.20)
	0390	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Material			-8,057.9	\$68.50	(\$551,966.15
	0390	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0004) overridding Payment Estimate Exception 18 on the current Payment Estimate.	185.2	\$68.50	\$12,686.20
	0390	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0005) due to user scarpm1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	8,057.9	\$68.50	\$551,966.15
	0390	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Other Item Adjustment	Asphalt Cement Price Adjustment	AC adjustment for SP125C Mix ID SP125 17-118. 1687.81 tons placed between 5/2/20 - 5/15/20. (\$2,278.54)			(\$2,278.54)
	0390	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Other Item Adjustment	Overrun	Line item adjustment to without the amount over plan quantity. 185.2 Tons at \$68.50 per ton = (\$12,686.20)			(\$12,686.20)
	0400	TACK COAT	Overrun			-330	\$2.10	(\$693.00
	0400	TACK COAT	Material			-9,810	\$2.10	(\$20,601.00
	0400	TACK COAT	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0006) overridding Payment Estimate Exception 19 on the current Payment Estimate.	330	\$2.10	\$693.00
	0400	TACK COAT	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0007) due to user scarpm1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	9,810	\$2.10	\$20,601.00
	0400	TACK COAT	Other Item Adjustment	Overrun	Line item adjustment to without the amount over plan quantity. 330 Gallons at \$2.10 per ton = (\$693.00)			(\$693.00)
	0440	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE	Material			-36	\$89.85	(\$3,234.60)

Revision 4/1/2020 Page 3 of 15



## Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 18, 2020

Progress Estimate Number 3
Contract ID 200117-C07 Prime Superior Bowen Asphalt Company, LLC Pay Period Start Pay Period End May 2, 2020 Original Contract Amount \$2,358,419.34

Pay Period End May 2, 2020 Original Contract Amount \$2,358,419.34

Pay Period End May 15, Net Change Order Amount \$24,497.33

Current Contract Amount \$2,382,916.67

Project lumber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
4S3259		S						
	0440	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0013) due to user scarpm1 overridding Payment Estimate Exception 6 on the current Payment Estimate.	36	\$89.85	\$3,234.60
	0450	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	Material			-2	\$500.00	(\$1,000.00
	0450	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0014) due to user scarpm1 overridding Payment Estimate Exception 9 on the current Payment Estimate.	2	\$500.00	\$1,000.00
	0520	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	Overrun			-29.5	\$131.33	(\$3,874.24
	0610	CONCRETE TRAFFIC BARRIER, TYPE B (MODIFIED)	Material			-105	\$399.00	(\$41,895.00
	0610	CONCRETE TRAFFIC BARRIER, TYPE B (MODIFIED)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0015) due to user scarpm1 overridding Payment Estimate Exception 11 on the current Payment Estimate.	105	\$399.00	\$41,895.00
	0820	MGS GUARDRAIL	Overrun			-125	\$18.50	(\$2,312.50
	0830	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Overrun			-0.5	\$21.50	(\$10.75
otal								(\$26,903.12

Revision 4/1/2020 Page 4 of 15



### Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Cor	ntract Project Information	n
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J4S3257	FAS S302(64)	Coldmill and resurface	9	PLATTE	from I-635 to Briarcliff Pkwy		
J4S3259	FAF 9-1(20)	Coldmill and resurface	9	CLAY	from I-635 to Briarcliff Pkwy		
Γotals by .	Job Numbe	rs					
J4S3257		d Item Pay Item Adjustm		item Pay	This Estimate \$115,788.90 (\$1,486.65) <b>\$114,302.25</b>	Previous \$689,476.07 (\$1,612.20) \$687,863.87	To Date \$805,264.97 (\$3,098.85) \$802,166.12
	Liquid	tive entive lated Damages Contract Adju			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00
J4S3259	Posted Item Pay Gross Item Adjustments Gross Item Pay		This Estimate \$273,287.88 (\$25,416.47) <b>\$247,871.41</b>	Previous \$1,082,403.63 (\$12,639.37) \$1,069,764.26	To Date \$1,355,691.51 (\$38,055.84) \$1,317,635.67		
	Incentive \$0.00 Disincentive \$0.00 Liquidated Damages \$0.00 Other Contract Adjustments \$0.00			\$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	

Revision 4/1/2020 Page 5 of 15



### Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

**Exceptions (Discrepancies) This Estimate Period** 

Exceptions (Discrepancies) This Estimate Period			
Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J4S3257, Item 4030103, Project Item Line Number 0050, Material Set 403010396, Material 1015ACPG6422H - PG 64-22H Performance Gr. Asph. Binder, Acceptance Action Generic 1015ACPG6422H is insufficient.	Working with the contractor and materials to resolve this exception.	scarpm1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3259, Item 4030103, Project Item Line Number 0390, Material Set 403010396, Material 1015ACPG6422H - PG 64-22H Performance Gr. Asph. Binder, Acceptance Action Generic 1015ACPG6422H is insufficient.	Working with the contractor and materials to resolve this exception.	scarpm1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3259, Item 4030103, Project Item Line Number 0390, Material Set 403010396, Material 0403SP125CLG - Superpave 12.5 mm, Des C 80 Gyros, Acceptance Action Generic AspHigh is insufficient.	Working with the contractor and materials to resolve this exception.	scarpm1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3259, Item 4071005, Project Item Line Number 0400, Material Set 407100596, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	Working with materials to resolve this exception.	scarpm1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3257, Item 4071005, Project Item Line Number 0060, Material Set 407100596, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	Working with materials to resolve this exception.	scarpm1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3259, Item 6091010, Project Item Line Number 0440, Material Set 609101096, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Working with the contractor and materials to resolve this exception.	scarpm1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3259, Item 6091010, Project Item Line Number 0440, Material Set 609101096, Material 1005GDCMLD - Masonry Grade D LS/DO, Acceptance Action Generic 1005GDCMLD is insufficient.	Working with the contractor to resolve this exception.	scarpm1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3259, Item 6091010, Project Item Line Number 0440, Material Set 609101096, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	Working with the contractor to resolve this exception.	scarpm1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3259, Item 6123000A, Project Item Line Number 0450, Material Set 6123000A96, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Working with the contractor to resolve this exception.	scarpm1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3257, Item 6123000A, Project Item Line Number 0070, Material Set 6123000A96, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Working with the contractor to resolve this exception.	scarpm1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3259, Item 6172001, Project Item Line Number 0610, Material Set 617200196, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Working with the contractor to resolve this exception.	scarpm1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3259, Item 6172001, Project Item Line Number 0610, Material Set 617200196, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	Working with the contractor to resolve this exception.	scarpm1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3259, Item 6172001, Project Item Line Number 0610, Material Set 617200196, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	Working with the contractor to resolve this exception.	scarpm1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3259, Item 6172001, Project Item Line Number 0610, Material Set 617200196, Material 1036RSDFEC42M13 - Rein Steel EC No. 4/M13 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Working with the contractor to resolve this exception.	scarpm1	Overridden
Estimate Exception Type: Item Overrun: Contract 200117-C07, Contract Project J4S3257, Project Item Line Number 0050, Contract Line Item Number 0050, Item 4030103, Minor Item.	Override for this exception was system generated due to greater item withholding on other pay estimate exceptions.	scarpm1	Overridden
Estimate Exception Type: Item Overrun: Contract 200117-C07, Contract Project J4S3259, Project Item Line Number 0350, Contract Line Item Number 0350, Item 2153000, Minor Item.	This item will be placed on the next change order.	scarpm1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 200117-C07, Contract Project J4S3259, Project Item Line Number 0380, Contract Line Item Number 0380, Item 4019905, Minor Item.	This item will be placed on the next change order.	scarpm1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 200117-C07, Contract Project J4S3259, Project Item Line Number 0390, Contract Line Item Number 0390, Item 4030103, Minor Item.	Override for this exception was system generated due to greater item withholding on other pay estimate exceptions.	scarpm1	Overridden
Estimate Exception Type: Item Overrun: Contract 200117-C07, Contract Project J4S3259, Project Item Line Number 0400, Contract Line Item Number 0400, Item 4071005, Minor Item.	Override for this exception was system generated due to greater item withholding on other pay estimate exceptions.	scarpm1	Overridden
Estimate Exception Type: Item Overrun: Contract 200117-C07, Contract Project J4S3259, Project Item Line Number 0510, Contract Line Item Number 0510, Item 6133020, Minor Item.	This item will be placed on the next change order.	scarpm1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 200117-C07, Contract Project J4S3259, Project Item Line Number 0520, Contract Line Item Number 0520, Item 6133021, Minor Item.	This item will be placed on the next change order.	scarpm1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 200117-C07, Contract Project J4S3259, Project Item Line Number 0820, Contract Line Item Number 0820, Item 6061060, Minor Item.	This item will be placed on the next change order.	scarpm1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 200117-C07, Contract Project J4S3259, Project Item Line Number 0830, Contract Line Item Number 0830, Item 6061061, Minor Item.	This item will be placed on the next change order.	scarpm1	Acknowledged

Revision 4/1/2020 Page 6 of 15



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

ntract ONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
7-C07	J4S3257	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$8,500.00	\$8,500.00
		0001	0020	2153000	SHAPING SLOPES, CLASS III	2.00	0.00	2.00	100F	2.00	\$950.00	\$1,900.00
		0001	0030	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	1,518.00	0.00	1,518.00	TONS	1,166.00	\$85.50	\$99,693.0
		0001	0040	4019905	MISC.BITUMINOUS SHOULDER REPAIR	130.00	0.00	130.00	SQYD	0.00	\$150.00	\$0.00
		0001	0050	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	4,843.70	0.00	4,843.70	TONS	4,878.90	\$70.75	\$345,182.1
		0001	0060	4071005	TACK COAT	6,626.00	0.00	6,626.00	GAL	6,079.00	\$2.10	\$12,765.9
		0001	0070	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$500.00	\$1,000.0
		0001	0800	6133018	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	18.80	0.00	18.80	TONS	7.60	\$60.00	\$456.0
		0001	0090	6133019	REMOVAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	95.00	0.00	95.00	SQYD	43.90	\$117.96	\$5,178.4
		0001	0100	6161005	CONSTRUCTION SIGNS	950.00	0.00	950.00	SQFT	793.00	\$6.00	\$4,758.0
		0001	0110	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	0.00	\$75.00	\$0.0
		0001	0120	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	4.00	\$25.00	\$100.0
		0001	0130	6161025	CHANNELIZER (TRIM LINE)	319.00	0.00	319.00	EA	175.00	\$9.00	\$1,575.0
		0001	0140	6161030	TYPE III MOVEABLE BARRICADE	3.00	0.00	3.00	EA	3.00	\$100.00	\$300.00
		0001	0150	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$350.00	\$700.0
		0001	0160	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$1,600.00	\$3,200.00
		0001	0170	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$70,000.00	\$70,000.0
		0001	0180	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	48.00	0.00	48.00	LF	48.00	\$32.00	\$1,536.0
		0001	0190	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	16,371.00	0.00	16,371.00	LF	14,734.00	\$0.39	\$5,746.2
		0001	0200	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	12,937.00	0.00	12,937.00	LF	11,643.00	\$0.40	\$4,657.2
		0001	0210	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	2,479.00	0.00	2,479.00	LF	2,576.00	\$1.00	\$2,576.00
		0001	0220	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	3,853.00	0.00	3,853.00	LF	3,468.00	\$0.26	\$901.68
		0001	0230	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	3,811.00	0.00	3,811.00	LF	3,430.00	\$0.26	\$891.8
		0001	0240	6207001	PAVEMENT MARKING REMOVAL	2,271.00	0.00	2,271.00	LF	0.00	\$0.75	\$0.0
		0001	0250	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	64,573.00	0.00	64,573.00	SQYD	64,573.00	\$1.70	\$109,774.1
		0001	0260	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	2,032.00	0.00	2,032.00	SQYD	2,032.00	\$3.50	\$7,112.0
		0001	0270	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	192.00	0.00	192.00	STA	176.00	\$21.00	\$3,696.0
		0010	0280	6061060	MGS GUARDRAIL	2,050.00	-150.00	1,900.00	LF	1,900.00	\$18.50	\$35,150.0
		0010	0290	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	3,038.00	0.00	3,038.00	LF	2,838.00	\$21.50	\$61,017.0
		0010	0300	6061063	MGS GUARDRAIL, 6 FT. POSTS, 3 FT 1.5 IN. SPACING	25.00	100.00	125.00	LF	125.00	\$28.00	\$3,500.00
		0010	0310	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	6.00	0.00	6.00	EA	6.00	\$2,750.00	\$16,500.0
		0010	0320	6061080	MGS END ANCHOR	4.00	0.00	4.00	EA	3.00	\$800.00	\$2,400.0
		0010	0330	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	2.00	0.00	2.00	EA	2.00	\$2,450.00	\$4,900.0
		0010	5001	6069902	MISC.Misc. Guardrail Item	0.00	11.00	11.00	EA	11.00	\$194.25	\$2,136.7
		0010	5002	6061065	MGS GUARDRAIL, 6 FT. POSTS, 1 FT 6.75 IN. SPACING	0.00	50.00	50.00	LF	50.00	\$56.96	\$2,848.0
		0010	5003	6069901	MISC.Misc. Guardrail Item	0.00	1.00	1.00	LS	1.00	\$1,272.60	\$1,272.6
	Project J				ate as of Report Generated Date						<b>4</b> 1,=1=101	\$821,923.9
	J4S3259	0001	0340	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$20,700.00	\$20,700.0
		0001	0350	2153000	SHAPING SLOPES, CLASS III	14.00	0.00	14.00	100F	17.00	\$950.00	\$16,150.0
		0001	0360	3105003	GRAVEL (A) OR CRUSHED STONE (B)	111.00	0.00	111.00	SQYD	0.00	\$23.00	\$0.0
		0001	0370	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	1,903.70	0.00	1,903.70	TONS	1,447.00	\$69.25	\$100,204.75
		0001	0380	4019905	MISC.BITUMINOUS SHOULDER REPAIR	175.00	0.00	175.00	SQYD	294.50	\$150.00	\$44,175.00
		0001	0390	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	7,872.70	0.00	7,872.70	TONS	8,057.90	\$68.50	\$551,966.15

Revision 4/1/2020 Page 7 of 15



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repo generated date)
00117-C07	J4S3259	0001	0400	4071005	TACK COAT	9,480.00	0.00	9,480.00	GAL	9,810.00	\$2.10	\$20,601.0
		0001	0410	4079912	MISC.MODIFIED BONDED ASPHALTIC CONCRETE PAVEMENT	714.00	0.00	714.00	GAL	0.00	\$2.15	\$0.0
		0001	0420	4139905	MISC.HIGH FRICTION SURFACE TREATMENT	1,311.00	0.00	1,311.00	SQYD	0.00	\$44.00	\$0.0
		0001	0430	6042010	ADJUSTING MANHOLE	4.00	0.00	4.00	EA	3.00	\$2,600.00	\$7,800.0
		0001	0440	6091010	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	55.00	0.00	55.00	LF	36.00	\$89.85	\$3,234.6
		0001	0450	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$500.00	\$1,000.0
		0001	0460	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	80.00	20.00	100.00	SQYD	100.00	\$480.30	\$48,030.0
		0001	0470	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	8.00	-8.00	0.00	SQYD	0.00	\$1.25	\$0.
		0001	0480	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	8.00	-8.00	0.00	SQYD	0.00	\$1.25	\$0.
		0001	0490	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	360.00	74.00	434.00	LF	434.00	\$1.75	\$759.
		0001	0500	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	200.00	-18.00	182.00	EA	182.00	\$5.35	\$973.
		0001	0510	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	32.70	0.00	32.70	TONS	58.10	\$56.78	\$3,298
		0001	0520	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	165.00	0.00	165.00	SQYD	219.70	\$131.33	\$28,853
		0001	0530	6161005	CONSTRUCTION SIGNS	1,053.00	0.00	1,053.00	SQFT	1,045.00	\$6.00	\$6,270
		0001	0540	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	0.00	\$75.00	\$0
		0001	0550	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	4.00	\$25.00	\$100
		0001	0560	6161025	CHANNELIZER (TRIM LINE)	320.00	0.00	320.00	EA	225.00	\$12.00	\$2,700
		0001	0570	6161030	TYPE III MOVEABLE BARRICADE	4.00	0.00	4.00	EA	4.00	\$100.00	\$400
		0001	0580	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$750.00	\$1,500
		0001	0590	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00	0.00	4.00	EA	4.00	\$3,500.00	\$14,000
		0001	0600	6169902	MISC.ADA COMPLIANT MOVEALBE BARRICADE	4.00	0.00	4.00	EA	0.00	\$75.00	\$
		0001	0610	6172001	CONCRETE TRAFFIC BARRIER, TYPE B (MODIFIED)	105.00	0.00	105.00	LF	105.00	\$399.00	\$41,89
		0001	0620	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$93,000.00	\$93,00
		0001	0630	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, $ 6   \text{In}. $ WHITE	360.00	0.00	360.00	LF	210.00	\$5.50	\$1,15
		0001	0640	6200012	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE	200.00	0.00	200.00	LF	219.00	\$12.00	\$2,62
		0001	0650	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	716.00	0.00	716.00	LF	386.00	\$21.00	\$8,10
		0001	0660	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	182.00	0.00	182.00	LF	50.00	\$21.00	\$1,05
		0001	0670	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	10.00	0.00	10.00	EA	8.00	\$210.00	\$1,68
		0001	0680	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	6.00	0.00	6.00	EA	7.00	\$185.00	\$1,29
		0001	0690	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	11.00	0.00	11.00	EA	9.00	\$375.00	\$3,37
		0001	0700	6200030	PREFORMED THERMOPLASTIC PAVEMENT MARKING, WORD (ONLY)	2.00	0.00	2.00	EA	2.00	\$275.00	\$55
		0001	0710	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	48.00	0.00	48.00	EA	42.00	\$190.00	\$7,98
		0001	0720	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	83.00	0.00	83.00	EA	160.00	\$20.00	\$3,20
		0001	0730	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT. TYPE L BEADS	24,168.00	0.00	24,168.00	LF	21,751.00	\$0.22	\$4,78
		0001	0740	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	20,257.00	0.00	20,257.00	LF	19,005.00	\$0.22	\$4,18
		0001	0750	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT	4,548.00	0.00	4,548.00	LF	4,444.00	\$0.65	\$2,88
		0001	0760	6206000C	MARKING PAINT, TYPE L BEADS  4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT TYPE P READS	2,703.00	0.00	2,703.00	LF	2,433.00	\$0.25	\$608
		0001	0770	6206001C	PAINT, TYPE P BEADS  4 IN. YELLOW STANDARD WATERBORNE PAVEMENT	1,349.00	0.00	1,349.00	LF	1,214.00	\$0.25	\$303
		0001	0780	6207001	MARKING PAINT, TYPE P BEADS PAVEMENT MARKING REMOVAL	674.00	0.00	674.00	LF	160.00	\$1.00	\$160
		0001	0790	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF	97,411.00	0.00	97,411.00	SQYD	97,411.00	\$2.00	\$194,822
		0001	0800	6224010	SURFACING (3 IN. THICK OR LESS)  MODIFIED COLDMILLING (DEPTH TRANSITIONS)	5,737.00	0.00	5,737.00	SQYD	5,737.00	\$1.70	\$9,752

Page 8 of 15 Revision 4/1/2020



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
200117-C07	J4S3259	0001	0810	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	196.00	0.00	196.00	STA	179.00	\$21.00	\$3,759.00
		0010	0820	6061060	MGS GUARDRAIL	2,363.00	0.00	2,363.00	LF	2,488.00	\$18.50	\$46,028.00
		0010	0830	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	213.00	0.00	213.00	LF	363.00	\$21.50	\$7,804.50
		0010	0840	6061063	MGS GUARDRAIL, 6 FT. POSTS, 3 FT 1.5 IN. SPACING	688.00	0.00	688.00	LF	150.00	\$28.00	\$4,200.00
		0010	0850	6061067	MGS DOUBLE FACED GUARDRAIL	375.00	0.00	375.00	LF	375.00	\$29.50	\$11,062.50
		0010	0860	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	12.00	0.00	12.00	EA	12.00	\$2,750.00	\$33,000.00
		0010	0870	6061080	MGS END ANCHOR	11.00	0.00	11.00	EA	10.00	\$800.00	\$8,000.00
		0010	0880	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	15.00	0.00	15.00	EA	14.00	\$2,450.00	\$34,300.00
		0001	5101	1099901	MISC.Misc. Reinforcing Steel	0.00	1.00	1.00	LS	1.00	\$8,595.78	\$8,595.78
	Project J	4S3259 - To	tal Value	Posted to D	late as of Report Generated Date							\$1,412,882.17
200117-C07 Ove	rall - Total	Value Post	ed to Dat	te as of Repo	ort Generated Date							\$2,234,806.08

Revision 4/1/2020 Page 9 of 15



### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J4S3257

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0030	4011209	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	5/6/20	5/12/20	471.55	TONS	Paved outside shoulder Route 9 SB between Rts. 160 and end of project J4S3259 Log Mile 10.222 to 11.021, outside shoulder Route 9 NB between start of project J4S3259 and end of project J4S3257 Log Mile 3.183 to 5929, outside shoulder Briarding for namp to Route 9 NB Station 810-40.00 to 814-71.68, outside shoulder US 697 Nerway SB Log Mile 1.828 to 1.922, outside shoulder US 697 (Nerway SB Log Mile 1.828 to 1.922, outside Shoulder US 697 (Nerway SB Log Mile 1.828 to 1.922, outside Shoulder 119.929 to 120.180	4.807		5.929		
			5/8/20	5/13/20	694.45	TONS	Paved outside shoulder NB & SB US69 / Riverway LM 1.67-1.922, ISS & OSS NB 69 off ramp from Rte. 9 SB LM 1.407-1.615, shoulders SB 69 on ramp to Rte. 9 NB LM 119.929-120, 180, Rte. 9 SB OSS blw Riverway and Rte. 169 LM 8.642-0.1216, OSS Rte. 9 SB on and off ramps at Briarcifff LM 9.287-9.869, OSS Rte. 9 NB off ramp to Briarciff Sta.610+0.2-606+50, ISS & OSS Rte. 169 SB off ramp to Rte. 9 SB LM 0.122-0.247	4.807		5.929		
0060	4071005	TACK COAT	5/6/20	5/12/20	420.00	GAL	Paved outside shoulder Route 9 SB between Rts. 160 and end of project J4S3259 Log Mile 10.222 to 11.021, outside shoulder Route 9 NB between start of project J4S3259 and end of project J4S3257 Log Mile 3.183 to 59.29, outside shoulder Bratardin or namp to Route 9 NB Station 810-40.00 to 814-71.68, outside shoulder US 98 / Nerway SB Log Mile 1.282 to 1.922, outside shoulder US 69 / Nerway SB Log Mile 1.282 to 1.922, outside Shoulder US 69 / Nerway SB Log Mile 1.282 to 1.922, outside J0 Mile 1.9329 to 1.920, but 1.9329 to 1.920, but 1.9329 to 1.9320 mile 1	4.807		5.929		
			5/8/20	5/13/20	618.00	GAL	Paved outside shoulder NB 8, SB US69, Pilverway LM 167:1492, IS8. A OSS NB 69 of tramp from Rise 9 SB LM 1,407-1,615, shoulders SB 69 on ramp to Rise. 9 NB LM 19,929-120 IS8. DR. Rise 9 SB OSS bw Riverway and Rite. 199 LM 8,642-10,218, OSS Rite. 9 SB on and off tramps at Braicrifff LM 9,287-9,869, OSS Rite. 9 NB off ramp to Diracriff Sta. 610-02-606-50, ISS & OSS Rite. 169 SB off ramp to Rite. 9 SE LM 0.122-0,25	4.807		5.929		
0070	6123000A	TRUCK OR TRAILER MOUNTED ATTEN (TMA)	5/12/20	5/13/20	2.00	EA	Rte. 9 NB and SB	4.807		5.929		
0100	6161005	CONSTRUCTION SIGNS	5/13/20	5/14/20	388.00	SQFT	NB and SB Route 9 Log Mile 4.807 to 5.929	4.807		5.929		6 - Uneven Lanes (W08-11) = 96 SQFT Rte. 9 NB and SB Malarine 3 - Ramp Closed (R11-2) = 30 SQFT Closures for Ramps 3 - Ramp Closed Ahead (W020-3) = 48 SQFT Closures for Ramps 3 - 45 MPH Work Zone (R2-1 and G020-5aP) = 54 SQFT Rte. 9 NB and SB Mainline and Ramps 5 - Road Work Ahead (W020-1) = 80 SQFT Rte. 9 NB and SB Mainline and Ramps 5 - Right / Left Lane Closed Ahead (W020-5) = 80 SQFT Rte. 9 NB and SB Mainline and Ramps 7 - Right / Left Lane Closed Ahead (W020-5) = 80 SQFT Rte. 9 NB and SB Mainline and Ramps
0250	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	5/2/20	5/12/20	2,858.00	SQYD	Milled outside shoulder of Route 9 NB on and off ramps at Briarcliff J4S3259 and Riverway /US 69 NB J4S3257outside shoulder.	4.807		5.929		
0260	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	5/2/20	5/12/20	581.00	SQYD	Route 9 NB and SB 4.807 to 5.929	4.807		5.929		
0270	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	5/12/20	5/13/20	176.00	STA	Route 9 NB and SB (Inside and Outside Shoulder)	4.807		5.929		

### Project: J4S3259

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0340	2022010	REMOVAL OF IMPROVEMENTS	5/13/20	5/14/20	0.10	LS	Removal of Improvements Route 9 Log Mile 3.183 to 4.807	3.183		4.807		
0350	2153000	SHAPING SLOPES, CLASS III	5/5/20	5/12/20	1.80	100F	Route 9 NB Inside and Outside Adjacent Column Protection, Under Bridges for 169 Log Mile 4.022 to 4.120 (.8 EA Plus .2 Rounding Total)	4.022		4.120		
0370	4011209	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	5/5/20	5/12/20	84.40	TONS	Rts. 169 NB to Rts. 9 NB RP LM 0.2130.225, RP Lane tte. 9 NB LM 40424.191, Rts. 0 NB RP to Rts. 9 SB LM 0.000 to 0.051, Accel Lane to SB Rts. 9 Log Mile 10.02710.127, LTL to X-over tolv Rts. 9 SB and NB LM 0.28610.380, X-over tolv Rts. 9 SB and NB LM 0.2770.410, LTL to 32nd St. Rts. 9 SB LM 10.87410.926, Turn out / tie in to Besign St. LM 0.2890.302, LTL to Design St. and Intersection Rts. 9 NB LM 3.2423.278, Rts. 9 NB RT 0.3276 SL TS. 10.3265, Turn out / tie in to S2nd St. LM 0.0160.028. Turn out / tie in to 32nd St. LM 0.0160.028, Turn out / tie in to Waterworks Dr. Rts. 9 NB Rt M. 0.580 - 0.580	3.183		4.807		SP125C ILO of BP-1 Shoulders on Ramps and Crossove = 84.4 Tons
			5/6/20	5/12/20	834.21	TONS	Paved outside shoulder Route 9 SB between Rts. 169 and end of project J4S3259 Log Mile 10.222 to 11.021, outside shoulder Route 9 NB between start of project J4S3259 and end of project J4S3257 Log Mile 3.163 to 59.29, outside shoulder Briarding for army to Route 9 NB 9 Station 810-40.00 to 814-71.69, outside shoulder US 9 NB 9 Yereway SB Log Mile 1.828 to 1.922, outside shoulder US 69 / Riverway SB Log Mile 1.828 to 1.922, outside shoulder US 69 / Riverway SB Log no ramp to Route 9 NB Log Mile 1.932 to	3.183		4.807		
			5/8/20	5/13/20	528.39	TONS	Paved outside shoulder NB & SB US69 / Riverway LM 167-1920. IS& OSS NB 69 of tramp from RH= 9 SB LM 1407-1615, shoulders SB 69 on ramp to Rte. 9 NB LM 1407-1615, shoulders SB 69 on ramp to Rte. 9 NB LM 198-291-201 SD Rte. 9 SB 05 Sb Mr Riverway and Rte. 169 LM 8-642-10.216, OSS Rte. 9 SB on and off ramps at Pairardiff LM 9-287-9.889 (OSS Rte. 9 NB off ramp to Briardiff Sta 610-02-606-50, ISS & OSS Rte. 169 SB off ramp to Rte. 9 SB LM 0122-20-300.	3.183		4.807		528.39 + .01 rounding total
0390	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP1	5/2/20	5/12/20	902.31	TONS	Paved roundabouts at Briarcliff, between roundabouts, and tie-in to West Platte Road, Tullison Road East and West Station 98+00 to 107+00 J4S3259.	98+00		107+00		
			5/5/20	5/12/20	0.03	TONS	Rounding Total +.03	3.183		4.807		
				5/12/20	785.50	TONS	Rts. 169 NB to Rite 9 NB RP LM 0.213 - 0.225, RP Lane Rts. 9 NB LM 4.042 - 4.191, Rts. 9 NB RP to Rts. 9 SB LM 0.000 to 0.051, Accel Lane to SB Rts. 9 Log Mile 10.027 - 10.127, LT Lt 0.X-over biv Rts. 9 SB and NB LM 0.258 - 10.380, X-over biv Rts. 9 SB and NB LM 0.377 - 0.410, LT Lt 0.32nd St. Rts. 9 SB LM 10.874 - 10.926, Turn out / tie in to beging St. LM 0.269 - 0.392, LT Li 0. Design St. and intersection Rts. 9 NB LM 3.242 - 3.278, Rts. 9 NB RD 3.240 SD AS LB CM 0.375 - 10.280, Turn out / tie in to 32nd St. LM 0.269 - 0.392, Turn out / tie in to Waterworks Dr. Rts. 9 NB Rt M. 0.580 - 0.380 K.	3.183		4.807		Total = 869.90 (84.4 Tons of SP125C ILO BP-1) = 785.50 Tons SP125C
0400	4071005	TACK COAT	5/2/20	5/12/20	933.00	GAL	Paved roundabouts at Briarcliff, between roundabouts, and tie-in to West Platte Road, Tullison Road East and West Station 98+00 to 107+00 J4S3259.	98+00		107+00		
			5/5/20	5/12/20	777.00	GAL	Rte. 169 NB to Rte. 9 NB RP LM 0.213 - 0.225, RP Lane Rte. 9 NB LM 4.042 - 4.191, Rte. 9 NB RP to Rte. 9 SB LM 0.000 to 0.051, Accel Lane to SB Rte. 9 Log Mile 10.027 - 10.127, LTL to X-over blw Rte. 9 SB and NB LM 0.258 - 10.380, X-over blw Rte. 9 SB and NB LM 0.258 - 10.380, X-over blw Rte. 9 SB LM 10.874 - 10.926,	3.183		4.807		

Revision 4/1/2020 Page 10 of 15



## Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line	Item	Description	DWR	DWR	Quantity	Units	Location	From	Offset/	То	Offset/	Comments
Number	Code	Description	Date	Approval Date	Posted	Onits	Location	Station/ Log Mile	Distance	Station/ Log Mile	Distance	Continents
0400	4071005	TACK COAT					Turn out / tie in to Design St. LM 0.269 - 0.302, LTL to Design St. and Intersection Rte. 9 NB LM 3.242 - 3.278, Rte. 9 NB RP to 32nd St. E. LM 3.269, Turn out / tie in to 32nd St. LM 0.016 - 0.028, Turn out / tie in to Waterworks Dr. Rte. 9 NB LM. 0.580 - 0.585					
			5/6/20	5/12/20	747.00	GAL	Paved outside shoulder Route 9 SB between Rts. 169 and end of project J4S3259 Log Mile 10.222 to 11.021, outside shoulder Route 9 NB between start of project J4S3259 and end of project J4S3257 Log Mile 3.163 to 5.92, outside shoulder Braciffor arram to Route 9 NB Station 810-40.00 to 814-71.69, outside shoulder US 697 Kiverway SB Log Mile 1.826 to 1.922, outside shoulder US 697 (Riverway SB Log Mile 1.826 ho 1.922, outside Shoulder US 697 (Riverway SB Log Mile 1.826 ho 1.922, outside Shoulder US 697 (Riverway SB Log Mile 1.826 ho ramp to Route 9 NB Log Mile 119.929 to 120.180	3.183		4.807		
			5/8/20	5/13/20	470.00	GAL	Paved outside shoulder NB & SB USB9 / Riverway LM 167.1922. IS8. 0. OS NB 69 of tramp from Rive 9. SB LM 1.407-1.615. shoulders SB 69 on ramp to Rive. 9. NB LM 1.407-1.615. shoulders SB 69 on ramp to Rive. 9. NB LM 19.929-120. IS8. OR. Rive. 9. SB 0.55 bW Riverway and Rive. 169 LM 8.642-10.218, OSS Rive. 9. SB on and off ramps at Braindliff LM 9.279-7.889. OSS Rive. 9. NB off ramp to Braindliff Sta 610-02-606-50, ISS & OSS Rive. 169 SB off ramp to Rive. 9. SB LM 0.122-0.216.	3.183		4.807		
0430	6042010	ADJUSTING MANHOLE	5/8/20	5/13/20	-1.00	EA	Adjusted manholes Route 9 SB between 10.701 to 10.882 only three needed adjusted this is to subtract the overpayment	10.707		10.882		
0450	6123000A	TRUCK OR TRAILER MOUNTED ATTEN (TMA)	5/12/20	5/13/20	2.00	EA	Rte. 9 NB and SB	3.183		4.807		
0520	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVT REPAIR	5/5/20	5/12/20	29.50	SQYD	Route 9 NB Inside Shoulder at Strat of Project (88.5 FT X 3 FT)	3.183				
0530	6161005	CONSTRUCTION SIGNS	5/13/20	5/14/20	408.00	SQFT	NB and SB Route 9 Log Mile 3.183 to 4.807	3.183		4.807		5 - Road Closed Ahead (W020-3) = 80 SQFT Road Closures for work at Briancilff Roundabouts 5 - Detour with Right Arrow (M04-8) = 60 SQFT Detour for work at Briancilff Roundabouts 6 - Road Road Road Road Road Road Road Road
0560		CHANNELIZER (TRIM LINE)	5/13/20	5/14/20	50.00	EA	NB and SB Route 9 Log Mile 3.183 to 4.807	3.183		4.807		
0790	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	5/2/20	5/12/20	638.00	SQYD	Milled outside shoulder of Route 9 NB on and off ramps at Briarcliff J4S3259 and Riverway /US 69 NB J4S3257outside shoulder.	3.183		4.807		
			5/5/20	5/12/20	1,681.00	SQYD	Rts. 169 NB to Rts. 9 NB RP LM 0.2130.225, RP Lane tte. 9 NB LM 0.402. 4.191, Reb. 9 NB RP to Rts. 9 SB LM 0.000 to 0.051, Accel Lane to SB Rts. 9 Log Mile 10.027 -10.127, LT Lt. 5 X-over blw Rts. 9 SB and NB LM 0.377 -0.410, LT L to S2nd St. Rts. 9 SB LM 10.874 -10.926, Turn out / tie in to besign St. LM 0.289 -0.302, LT Lt to Design St. and Intersection Rts. 9 NB LM 3.242 -3.276, Rts. 9 NB Rt M. 3.280, Turn out / bit o.32nd St. EM. 3.280, Turn out / bit o.32nd St. EM. 3.280, Turn out / bit o.32nd St. EM. 3.280, Turn out / bit in 10.32nd St. LM 0.016 -0.028, Turn out / tie in to Waterworks Dr. Rts. 9 NB Rt M. 0.580 -0.580	3.183		4.807		
0800	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	5/5/20	5/12/20	3,467.00	SQYD	Rts. 199 NB to Rts. 9 NB RP LM 0.213 0.225, RP Lane to 9 NB LM 402.4 - 1911, Rts. 0 NB RP to Rts. 9 NB LM 402.4 - 1911, Rts. 0 NB RP to Rts. 9 NB LM 0.000 to 0.051, Accel Lane to SB Rts. 9 Log Mile 10.027 - 10.127, LTL to X-over bitw Rts. 9 SB and NB LM 0.377 - 0.410, LTL to 32nd St. Rts. 9 SB LM 10.874 - 10.926, Turn out // tie in to besign St. LM 0.289 - 0.302, LTL to Design St. and Intersection Rts. 9 NB LM 3.242 - 3.278, Rts. 9 NB Rts.	3.183		4.807		
0810	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	5/12/20	5/13/20	179.00	STA	Rte. 9 NB and SB (Inside and Outside Shoulder)	3.183		4.807		
0820	6061060	MGS GUARDRAIL	5/5/20	5/12/20	563.00	LF	Route 9 NB Inside and Outside Adjacent Column Protection, Under Bridges for 169 Log Mile 4.022 to 4.120 (Inside, LT = 175, Outside RT = 413)	4.022		4.120		
0830		MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN		5/12/20	0.50		Route 9 SB Outside (RT) Downstream of Bridge Over Briarcliff Parkway Log Mile 9.599 to 9.646	9.599		9.646		
0860	6061069	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	5/5/20	5/12/20	4.00	EA	Route 9 NB Inside Adjacent Column Protection, Under Bridges for 169 Log Mile 4.022 to 4.120	4.022		4.120		
0870	6061080	MGS END ANCHOR	5/5/20	5/12/20	2.00	EA	Route 9 NB Inside and Outside Adjacent Column Protection, Under Bridges for 169 Log Mile 4.022 to 4.120 (1 EA)	4.022		4.120		
0880	6063014	TYPE A CRSHWTHY END TERMINAL (MASH)	5/5/20	5/12/20	2.00	EA	Route 9 NB Inside and Outside Adjacent Column Protection, Under Bridges for 169 Log Mile 4.022 to 4.120 (1 EA)	4.022		4.120		
		slow this line are details from I ine Item age					(1 EA)					

The information below this line are details from Line Item agency views. No Agency View Details Exist

Revision 4/1/2020 Page 11 of 15



Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
0030	BITUMINOUS PAVEMENT MIXTURE	Other Item	Type ACAD		May 18,	scarpm1	(\$1,486.65)	AC adjustment for BP-1 Mix ID BP1 20-48. 1,166.00 tons placed
	PG64-22, (BP-1)	Adjustment			2020			between 5/2/20 - 5/15/20. (\$1,486.65)
			ACAD - Tota	al			(\$1,486.65)	
	Other Item Adjustment - Total						(\$1,486.65)	
0030 -	Total						(\$1,486.65)	
0050	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Material		2	May 4, 2020	SYSTEM	(\$345,182.18)	
				2	May 4, 2020	SYSTEM	\$345,182.18	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0023) due to user scarpm1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				3	May 18, 2020	SYSTEM	(\$345,182.18)	
				3	May 18, 2020	SYSTEM	\$345,182.18	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user scarpm1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Other Item Adjustment	ACAD	2	May 4, 2020	scarpm1	\$878.20	AC adjustment for SP125C Mix ID SP125 17-118. 4,878.90 tons placed between 4/16/20 - 5/1/20. \$878.20
			ACAD - Tota	al			\$878.20	
	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)		OVRN	2	May 4, 2020	scarpm1	(\$2,490.40)	Line item adjustment to withhold the amount over plan quantity. 35.2 Tons at \$70.75 per ton = (\$2,490.40)
			OVRN - Tota	al			(\$2,490.40)	
	Other Item Adjustment - Total						(\$1,612.20)	
	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Overrun	Overrun	2	May 4, 2020	SYSTEM	\$2,490.40	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0022) overridding Payment Estimate Exception 12 on the current Payment Estimate.
				2	May 4, 2020	SYSTEM	(\$2,490.40)	
				3	May 18, 2020	SYSTEM	(\$2,490.40)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				3	May 18, 2020	SYSTEM	\$2,490.40	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 15 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0050 -	Total						(\$1,612.20)	
0060	TACK COAT	Material		2	May 4, 2020	SYSTEM	(\$10,586.10)	
				2	May 4, 2020	SYSTEM	\$10,586.10	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0028) due to user scarpm1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				3	May 18, 2020	SYSTEM	(\$12,765.90)	
				3	May 18, 2020	SYSTEM	\$12,765.90	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user scarpm1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0060 -	Total						\$0.00	
0070	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	Material		3	May 18, 2020	SYSTEM	(\$1,000.00)	
				3	May 18, 2020	SYSTEM	\$1,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) due to user scarpm1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0070 -	Total						\$0.00	
0350	SHAPING SLOPES, CLASS III	Overrun	Overrun	2	May 4, 2020	SYSTEM	(\$1,140.00)	
				3	May 18,	SYSTEM	(\$1,710.00)	

Revision 4/1/2020 Page 12 of 15



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
LINC	Description	Туре	Adjustment Type		Date	Ву	Amount	Kelland
0350	SHAPING SLOPES, CLASS III	Overrun	Overrun		2020			
			Overrun - T	otal			(\$2,850.00)	
	Overrun - Total						(\$2,850.00)	
0350 -	· Total						(\$2,850.00)	
0370	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Other Item Adjustment	ACAD	3	May 18, 2020	scarpm1	(\$1,851.24)	AC adjustment for SP125C ILO BP-1 Mix ID SP125 17-118. 84.40 tons placed between 5/2/20 - 5/15/20. (\$113.94) AC adjustment for BP-1 Mix ID BP1 20-48. 1,362.59 tons placed between 5/2/20 - 5/15/20. (\$1,737.30) Total = (\$1851.24)
			ACAD - Tota	al			(\$1,851.24)	
	Other Item Adjustment - Total						(\$1,851.24)	
0370 -	· Total						(\$1,851.24)	
0380	MISC. BITUMINOUS SHOULDER REPAIR	Overrun	Overrun	2	May 4, 2020	SYSTEM	(\$4,680.00)	
			Overrun - T	otal			(\$4,680.00)	
	Overrun - Total						(\$4,680.00)	
0380 -	· Total						(\$4,680.00)	
0390	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Material		2	May 4, 2020	SYSTEM	(\$436,349.11)	
				2	May 4, 2020	SYSTEM	\$436,349.11	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0029) due to user scarpm1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				3	May 18, 2020	SYSTEM	(\$551,966.15)	
				3	May 18, 2020	SYSTEM	\$551,966.15	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user scarpm1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Other Item Adjustment	ACAD	2	May 4, 2020	scarpm1	\$1,146.61	AC adjustment for SP125C Mix ID SP125 17-118. 6,370.06 tons placed between 4/16/20 - 5/1/20. \$1,146.61
				3	May 18, 2020	scarpm1	(\$2,278.54)	AC adjustment for SP125C Mix ID SP125 17-118. 1687.81 tons placed between 5/2/20 - 5/15/20. (\$2,278.54)
			ACAD - Tota	al			(\$1,131.93)	
	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)		OVRN	3	May 18, 2020	scarpm1	(\$12,686.20)	Line item adjustment to without the amount over plan quantity.  185.2 Tons at \$68.50 per ton = (\$12,686.20)
			OVRN - Tota	al			(\$12,686.20)	
	Other Item Adjustment - Total						(\$13,818.13)	
	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Overrun	Overrun	3	May 18, 2020	SYSTEM	(\$12,686.20)	
				3	May 18, 2020	SYSTEM	\$12,686.20	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) overridding Payment Estimate Exception 18 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0390	· Total						(\$13,818.13)	
0400	TACK COAT	Material		2	May 4, 2020	SYSTEM	(\$14,454.30)	
				2	May 4, 2020	SYSTEM	\$14,454.30	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0030) due to user scarpm1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				3	May 18, 2020	SYSTEM	(\$20,601.00)	
				3	May 18, 2020	SYSTEM	\$20,601.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user scarpm1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	TACK COAT	Other Item	OVRN	3	May 18,	scarpm1	(\$693.00)	Line item adjustment to without the amount over plan quantity.

Revision 4/1/2020 Page 13 of 15



	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
	·	Туре	Adjustment Type	Number	Date	Ву		
0400		Adjustment			2020			330 Gallons at \$2.10 per ton = (\$693.00)
			OVRN - Tota	al			(\$693.00)	
	Other Item Adjustment - Total						(\$693.00)	
	TACK COAT	Overrun	Overrun	3	May 18, 2020	SYSTEM	(\$693.00)	
				3	May 18, 2020	SYSTEM	\$693.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) overridding Payment Estimate Exception 19 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0400 -							(\$693.00)	
0440	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	Material		2	May 4, 2020	SYSTEM	(\$3,234.60)	
				2	May 4, 2020	SYSTEM	\$3,234.60	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0031) due to user scarpm1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				3	May 18, 2020	SYSTEM	(\$3,234.60)	
				3	May 18, 2020	SYSTEM	\$3,234.60	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0013) due to user scarpm1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0440 -	Total						\$0.00	
0450	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	Material		3	May 18, 2020	SYSTEM	(\$1,000.00)	
				3	May 18, 2020	SYSTEM	\$1,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user scarpm1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0450 -	Total							
							\$0.00	
0500	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT	Material		1	Apr 16, 2020	SYSTEM	(\$973.70)	
	FURNISHING AND INSTALLATION)	Material		1		SYSTEM SYSTEM	(\$973.70) \$973.70	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user scarpm1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
	FURNISHING AND INSTÄLLATION) FOR FULL DEPTH PAVEMENT REPAIR	Material	- Total		2020 Apr 16,		(\$973.70) \$973.70 \$0.00	Estimate Item Adjustment (0002) due to user scarpm1 overridding
0500	FURNISHING AND INSTÀLLATION) FOR FULL DEPTH PAVEMENT REPAIR  Material - Total	Material	- Total		2020 Apr 16,		(\$973.70) \$973.70 \$0.00 \$0.00	Estimate Item Adjustment (0002) due to user scarpm1 overridding
0500	FURNISHING AND INSTÀLLATION) FOR FULL DEPTH PAVEMENT REPAIR  Material - Total  Total			1	2020 Apr 16, 2020	SYSTEM	(\$973.70) \$973.70 \$0.00 \$0.00	Estimate Item Adjustment (0002) due to user scarpm1 overridding
0500	FURNISHING AND INSTÀLLATION) FOR FULL DEPTH PAVEMENT REPAIR  Material - Total		- Total Overrun	1	2020 Apr 16,		(\$973.70) \$973.70 \$0.00 \$0.00	Estimate Item Adjustment (0002) due to user scarpm1 overridding
0500	FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR  Material - Total  Total  FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT			2	2020 Apr 16, 2020 May 4,	SYSTEM	(\$973.70) \$973.70 \$0.00 \$0.00	Estimate Item Adjustment (0002) due to user scarpm1 overridding
0500	FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR  Material - Total  Total  FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT		Overrun	2	2020 Apr 16, 2020 May 4,	SYSTEM	(\$973.70) \$973.70 \$0.00 \$0.00 \$0.00 (\$1,442.21)	Estimate Item Adjustment (0002) due to user scarpm1 overridding
0500	FURNISHING AND INSTÀLLATION) FOR FULL DEPTH PAVEMENT REPAIR  Material - Total  Total  FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR  Overrun - Total		Overrun	2	2020 Apr 16, 2020 May 4,	SYSTEM	(\$973.70) \$973.70 \$0.00 \$0.00 \$0.00 (\$1,442.21)	Estimate Item Adjustment (0002) due to user scarpm1 overridding
0500 - 0510	FURNISHING AND INSTÀLLATION) FOR FULL DEPTH PAVEMENT REPAIR  Material - Total  Total  FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR  Overrun - Total		Overrun	1 2 otal	2020 Apr 16, 2020 May 4,	SYSTEM	(\$973.70) \$973.70 \$0.00 \$0.00 \$0.00 (\$1,442.21) (\$1,442.21)	Estimate Item Adjustment (0002) due to user scarpm1 overridding
0500 - 0510 -	FURNISHING AND INSTÀLLATION) FOR FULL DEPTH PAVEMENT REPAIR  Material - Total  Total  FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR  Overrun - Total  Total  REMOVAL FOR CLASS C PARTIAL	Overrun	Overrun - T	1 2 otal 2 3	2020 Apr 16, 2020 May 4, 2020	SYSTEM	(\$973.70) \$973.70 \$0.00 \$0.00 \$0.00 (\$1,442.21) (\$1,442.21) (\$1,442.21)	Estimate Item Adjustment (0002) due to user scarpm1 overridding
0500 - 0510 -	FURNISHING AND INSTÀLLATION) FOR FULL DEPTH PAVEMENT REPAIR  Material - Total  Total  FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR  Overrun - Total  Total  REMOVAL FOR CLASS C PARTIAL	Overrun	Overrun - T	1 2 otal 2 3	2020 Apr 16, 2020 May 4, 2020 May 18,	SYSTEM	(\$973.70) \$973.70 \$0.00 \$0.00 \$0.00 (\$1,442.21) (\$1,442.21) (\$1,442.21) (\$1,442.21) (\$3,309.52)	Estimate Item Adjustment (0002) due to user scarpm1 overridding
0500 - 0510 - 0520	FURNISHING AND INSTÀLLATION) FOR FULL DEPTH PAVEMENT REPAIR  Material - Total  Total  FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR  Overrun - Total  Total  REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	Overrun	Overrun - T	1 2 otal 2 3	2020 Apr 16, 2020 May 4, 2020 May 18,	SYSTEM	(\$973.70) \$973.70 \$0.00 \$0.00 \$0.00 (\$1,442.21) (\$1,442.21) (\$1,442.21) (\$1,442.21) (\$3,309.52)	Estimate Item Adjustment (0002) due to user scarpm1 overridding
0500 - 0510 -	FURNISHING AND INSTÀLLATION) FOR FULL DEPTH PAVEMENT REPAIR  Material - Total  Total  FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR  Overrun - Total  Total  REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	Overrun	Overrun - T	1 2 otal 2 3	2020 Apr 16, 2020 May 4, 2020 May 18,	SYSTEM	(\$973.70) \$973.70 \$0.00 \$0.00 \$0.00 (\$1,442.21) (\$1,442.21) (\$1,442.21) (\$3,309.52) (\$3,874.24) (\$7,183.76)	Estimate Item Adjustment (0002) due to user scarpm1 overridding
0500 - 0510 - 0520	FURNISHING AND INSTÀLLATION) FOR FULL DEPTH PAVEMENT REPAIR  Material - Total  Total  FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR  Overrun - Total  Total  REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	Overrun	Overrun - T	1 2 otal 2 3	2020 Apr 16, 2020 May 4, 2020 May 18,	SYSTEM	(\$973.70) \$973.70 \$0.00 \$0.00 \$0.00 (\$1,442.21) (\$1,442.21) (\$1,442.21) (\$3,309.52) (\$3,874.24) (\$7,183.76)	Estimate Item Adjustment (0002) due to user scarpm1 overridding
0500 - 0510 - 0520 -	FURNISHING AND INSTÀLLATION) FOR FULL DEPTH PAVEMENT REPAIR  Material - Total  Total  FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR  Overrun - Total  Total  REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR  Overrun - Total  CONCRETE TRAFFIC BARRIER,	Overrun	Overrun - T	1 2 otal 2 3 otal	2020 Apr 16, 2020  May 4, 2020  May 4, 2020  May 18, 2020	SYSTEM  SYSTEM  SYSTEM  SYSTEM	(\$973.70) \$973.70 \$0.00 \$0.00 \$0.00 (\$1,442.21) (\$1,442.21) (\$1,442.21) (\$3,309.52) (\$3,874.24) (\$7,183.76) (\$7,183.76)	Estimate Item Adjustment (0002) due to user scarpm1 overridding

Revision 4/1/2020 Page 14 of 15



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0610	CONCRETE TRAFFIC BARRIER, TYPE B (MODIFIED)	Material		3	May 18, 2020	SYSTEM	\$41,895.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user scarpm1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0610 -	Total						\$0.00	
0820	MGS GUARDRAIL	Overrun	Overrun	3	May 18, 2020	SYSTEM	(\$2,312.50)	
			Overrun - T	otal			(\$2,312.50)	
	Overrun - Total						(\$2,312.50)	
0820 -	Total						(\$2,312.50)	
0830	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Overrun	Overrun	1	Apr 16, 2020	SYSTEM	(\$3,214.25)	
				3	May 18, 2020	SYSTEM	(\$10.75)	
			Overrun - T	otal			(\$3,225.00)	
	Overrun - Total						(\$3,225.00)	
0830 -	Total						(\$3,225.00)	
Overa	II - Total						(\$41,154.69)	

Revision 4/1/2020 Page 15 of 15